/Qeuem/hg an_army. Thu Na. 23
_ ConsMer an amay R with 7o tnregers K0T, RI21, ..., Rnd
We. 1eit 1 reise the prder~ ot Bs _elements

Algorithim : |
for each 1< 9 L2 1
&w%ﬂljj ﬂi’?a( RL 0+l J
Tound dnwn s *Huz nearest /hfeaer

_“_” XOMDIES : —Hw gven ;wmbcl‘ “““
E 1 Ll y_z _\ H - 3 <
ndes | 2 3 \CZ l & - ¢ : -
n )
4z Z

indiees (2 374 & ¢ ‘,

L & B2—2 2~ 4

l+6 =4 = n+\
2+5 =74 = N+l\
B4d = = N4

H we e swapping RLj1 andRTK], then /Hk =N+
mk N+l —

Solutions



Tx: e & elemert of e aray R at Jhe start ot e pregrm
Reue/gm an Ay . €€ adien.

q nzo) /\(V/x ((1<sx<n) =5 (RIXT =Yx 10°9))B)

/m,m/ varables

I=153 _ — o et m>mu~ Ih_the_ program_.

= while (3 <=flwr(n/2 {

= RG],

RINtl-33 =t;

Xl

QX€K< = (RIXT = Ya-x))) D

lutions



L”/;) = ﬁ/,zj 13851 =3

Thit Nov 23
n 5 Idces I 2 3 & 3 & -
| ) LT A S 2% N e/ Tz

@ 6 6 B s n @

TZ X < 3 5<fx< %] nﬂ-]!)ﬁs/)(<7}ﬂ-d n++—:w<!>< <=

é

F 2

7z @ ® 5 [ & @)
14 @ ® @ & @ ® @

Tny ( ) =
(vx (| <

1) = (RIXT = Tna—a)) A

1
1"21) = (RIx1= Tx)) A

((n1-1"% 1<

+-3) = (RIx1="%)) A
((n+i—F+ < X

T+
) = (RIXI=Th-x)) )

. X L
((G= x =
X <
X <

_A_,J:twozug___mgkes‘éens;e*ﬁr F=(:) +0)

W = WD AN 5<0V1+D)

Solutions



Reversivg an Arrey .

A nz20) AYX([(1<x<n) = (RIxT=7x))) D

d_Iny(D D mphed ()
=13
d Tny (i) D (ssighment
_ While (§<=Aor(n/2) {

d (T A3 1210 D paral—while.

4 T G+ TRLIERIH-3IM (M-D<RBIY /RID  mplied . (b

= RUT;

d Tnv (+1) [RIIERIM-DS{ 19 <tU/RI D acsignment

RTj3I= RIn+I-43;

d IwG+) [RI+1-D <+ 5 /RT auray assynment-

RIN+1-33 =+;

¢ Jnv(3+D D a Qutay _assigniment

I=J4+1;

d Jw () D z}ssignmeﬁt
j?l(]nu@ A(3> [V2IND partial—while.

QXX > (RXT =Y%wm-x))) D -implied. ()

Solutions



Thu Nov 23

Imvli‘ed () =
The_eanclusion > Tnv.(D) = Iav(D A (<] <% +D)
Tnwltd) = <K< ——>C(RXF=Prer=2) )\

Gex <l = RIXI=1%) A

((ﬂ+i~L’%z < sm = (RIxI=7x) A

/

o — b S S N

. = WUgx< D> (RxI=71x)) N

(n+1 =1l x < n) = (R =1x))

Foreveny X, +he X element 3 2ual 1o Tx.

_TThe premjse.

Mz A (¥X 1€X<n) = (RIKT = TxY))

for every XK, the XM element 75 equal v A

)
( ——
The premise. . s the &me@ZMa@sv%ﬁﬂﬁ&Mp[@ﬁbﬁ helds

olutons



Imphred (b) - | .
 The pemise - Tw() A (G< 1)) .
 The Ctomclusion -

Tnv(3+1) [R{j<€ RInI=32%{in+1-PD< RGI5/R T
Unpacking e condlasin: yYe
Im/(1+i3 =
((ls K<) = (RIxT = Tpuo)) A

(34 s x<1"21) = (RIxdi= 1)) A

(n41-1Msx < n-3) = (Rx3 = ) A
{(p—3+1 < X < 1D = (RIX] = Toux))

R and R difter in_only the jth_and (1+1-35" elements

Based! on Tnv'(j+1) =
N Tas= 3 and R[N+1-37 = M=) = 75

_Unpacking-itepre mise
Invl]) =
( =X < 4 —> RIX3 = YVoe—x
Jd=x< | - RIX]=Tx
Nl X <ptl-3 = = RIX1= Yk
NHl-F+1 < X< ] — RIX1= Tnn-x

Based o;m Inv(7) :
RL3I =75

The Drepuse . (RGY = 73) A (RIn41-3] = Yar-3)
The  Conclusitn : (R’[ﬂ]-mu-ﬂ/\(R’Lml -31= 7"«0

J

>
I
i

RInt1-37 =Ver 5

We nead o shao- thet CDQE&J R'In+-37 & RIntl- 311=R';;]
Recall thar R'= R{je RInt1-3 14 (a1 - < RE314

So ke need 15 shae thet-

ORI = RIT< R+ -31%f (n+1-9) < R4 Tn+l-11

ol ® RIntl-31=R{J< RINH-3IY (mH-3) <RI



Thu Nov 23
Imwl‘ea’ (¢): |
The premise : Tw (D A(3>1021)

The conclusion : (V/X (C1<€X <n) = (RTX] = Mo D))
for every X, xth elemert B equel 1o Vopux
The premise -
D)u’( A (E

5s (Lol 1) A (3> V21)
= Twi(p /\ (7 =171 +1)) 3

\,—v\_,/
‘4*>].h/_7,i4—)
Oz =7

(@EX. TN

D = (RIX1= Toe—x) A

(%H’:%—‘—%—‘—ﬂ»—b%ﬂ;——%—éﬁﬁ%ﬁﬁ%—)-}ﬂﬁ“

((n L“/1Jﬂ< A <N)

= (RIX1 = Tansn)-

 Qex=1h)) - (RX) = Ton-x N/
(n%i+l < x < 1) - ( R[fo Tt )

hor evry X, the A1 element- & @QWL/ 5 Vorsnx

Solufons



